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4.1-4.4 Review | Worksheet
Note: You must show all work for credit, mcludmg calculator problems!!

Given &= —%}75 make a sketch and list (a) a positive and (b) a negatlve coterminal angle

Answers must be in radians!
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_leen sm@ = % and cos 6’ < O fmd the exact values of the other 5 trig functions. You must draw B :

- asketch in the cor_rect quadrant' !

" "M A x-_ki' /(.?-_
- cscf= 5
S g, SOT =5 | iR o
“&m-fs‘fﬁ‘”;ﬁ === Vi ' = 12119
' e 7 L cos@=_ T - secd=_"""Tia
- : S, -V
tanf=_ jq cotfl=_ g

Find the exact value (do not use calculator!) of the following trig functions:




15.

'elevauon of the ramp to the nearest degree.

An angle of depression from the top of a building to the base of a statue 72 feet from the base of the
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Use a caleulator to evaluate sec 21"4?}.’": (round your result to four demmal places) lo3a /
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Find two vatues of 6’ to the nearest degree 0° <8 <360°, that satisfy cosd =- 4695
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_A ramp 30 feet in length rises to a Ioadmg platfonn that ig 2.25 feet off the ground. Find the angle of
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building is 61°. Determine the height of the building to the nearest foot. Make a sketch, label all parts,.
and show your equatlons :
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Review 4.1-448 2. You must show all work for credit, including ealculator problems?!
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1. Given & = MZI-M make a sketch and list a) & positive and b) a negative coterminal angle.
Answers must be in ra@iansﬁ 3 . Pt _
R
el ¢/l
\ s wm L TE
BT s R TR “g'&g |
2. Ve 3 ,_wmm'}
. Sl Mi?j“'
G -7 = T T
T . o 1g, LA > |
3. Convert to radians: 5% FATY L Ede— 4. Convert to degrees: el S 3D
' E : g/ 7 36 . AN
: i)
S 2 {2
5. Given tand = s and cos@ < 0, find the exact values of the five other trig functions.
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Solve for r to two decimal places.
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Find the exact length of the arc with & = 607 and the radius of the circle 9 feet.
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9. Ifsind >0 and tané < (), ’ - 10. Find the reference angle for 255°
in which quadrant does g tie? },,IL . NE

12. Use a calculator to evaluate a) sin. ( 65) b) cot 16°18' (round your result to four declmal places)
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13. Find two va%ues of O to the nearest degree, 0° <& <360°, that satisfy cos @ = 9848
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‘14, The ramp approaching a loading platform that is 11 feet off the ground is to have an angle of 19° with the

ground. Find the length / of the ramp to the nearest tenth. Make a sketch, label all parts, and show your equations.

15. Dzsmnce between two cities. Find the distance between the two cities. Assume that the earth is a sphere of radius
4000 miles and that the cities are on the same mendlan (one city is due north of the other)
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| Name : # " .Score

4.1-4.4 Review | Worksheet
Note: You must show all work for credit, including caleulator problems!!

1. Given 6= —237” ;make a sketch and Iist (a) a positive and (b) a negéﬁveA coterminal-angle.

‘Answers must be in radians!
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2. Find the (a) complement and (b) supplement for: 9=27£ 2
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3, Convert to radians:- - 1152
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: 4.. Convert to degrees: HTE

5 Given sinf = 1% and cos @< 0, find the exact values of the other 5 tng functions. You must draw
- a sketch in the correct quadrant!!
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6. Find the exact value (do not use calculator!) of the following trig functions:
a. . CSC{E] . b. cot[£}=
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7. Find the exact iengﬂtt of the arc intercepted by the central angle 95° on a circle with radius = 17 in.
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Solve for x to two decimal places.
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9. If secf <0 and csc8 <0, 10. Find the reference angle for 512°
in which quadrant does & Jie? . . - -

11.  Tind the point (%, ¥) on the unit circle that corresponds to the angle 6.

2 6=-7 | b 9= a.
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12. Use a caleulator to evaluate sec 21°49": (zound your result fo four decimal places)
13..  Find two values of 0 to the nearest degree, 0°< @ <360°, that satisfy cosd = -.4695
and .
} 4. Aramp 30 feet in Iength rises to a loading platform that is 2.25 feet off the ground. Find the angle of
‘elevatlon of the ramp to the nearest degree
i _ 157_ - A11 angle of depressmn from the top of a bujlding to the base of a statue 72 feet from the base of the

. building is 61°. Determine the height of the building to the nearest foot. Make a sketch, label all parts,
- and show your equatlons
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Review 4.1-44% 2. You must show all work for eredit, including calculator problems?!
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1. Given 8 = _dj make a sketch and list a) a positive and b) a negative coterminal angle.
Answers must be in radians!
A
‘2. Findthe (a)icOmijIem'ént and (b} supplemeﬁt for: & zzg—
. ; : i 11z
3. Convert to radians: 75° 4, Convert to degrees: =
. 8 ' : :
5. Given tan 8 = g and cos@ < 0, find the exact values of the five other trig functions.
B 6.7 Fiﬁd: the exact vafue (45 not wse calculator!) of the following trig-fimctions: - _
@ ol %) S ® of ) ©  seer .
7. * Find the exact length of the arc with & = 60° and the radius of the circle 9 feet.
3. Solve for r to two decimal places.
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9, Ifsingd >0 and tané <0, -~ 10. Find the reference angle for 255°

in which quadrant does & Lie? '
1. Find the point (%, y) on the unit circle that corresponds to the angle 8.

T .
@0=2 ® =z
12. Use a calculator to evaluate a) sin(-.65) b) cotls®18! (round your result to four decimal places)
13. Find two values of & to the nearest degree, 0° <& < 360°, that satisfy cos & = .9848
and
14, The ramp a‘pp'r:c'}a.clﬁﬁg' a loading platform that is 11 feet off the ground is to have an angle of 19° with the
ground. Find the length / of the ramp to the nearest tenth. Make a sketch, label all parts, and show your equations.
o 15, Distance between two cities. Find the distance between, the two cities. Assume that the earth is a sphere of radius

4000 miles and that the cities are on the same meridian (one city is due north of the other).

. Berlin ' 27°4119"
Regensburg 17°52'38"




